SCADIETS

- MB35/ ICILEEEBE (h) ZSEATICE

- MABB] ICERELEBIC T11 ZEANDITBDCE

- —t - . AL — = N ~
20215 E UBERIERHPRSEFFR ZE BB FFEETE-EER . IRESE) CHERABOARSERANICRBTRCE BERK% BIHF
Y SE EST - [ 51 B = - 6H STEl EST - [ 7H T =& - 8H STEl = - 9H TE =0 -
51 E = &R LEFAE L] 51 E = e LEERE ] 5 =T =R 16 $550BIE AR T YEELBIE SR ERIEE e LEERE ] B | En [rEn| Bn L]
[HIES 1 1] x 1 [HES R SR 1 1 [HES
2 | £ 1 2|1 8 2 2 | & i 2 2 | K
3£ 1 3 |4 R OrAz] 3 3 | & s 3 3| &
2B 1 N HEYDH 4 BB RRHE 4B 4 41
5 | B 1 5 | & ZELMA 5 B e 518 5 5 | H
A IPY 1 6 | K iz 6 18 SR ARMK 6 | X 6 6|8
7 1K 1 |~ 71% 7 7/31%4K 71K 7 71K
8 | K 1 AZR s |+ 3 BR B4 | 8 8 | K 8 8 [ K
9 1% [l EEEE 9| H Hh X A 9 9| & 9 9 | K
0] £ 1 10| % 4/2984K 10 10| £ 10 10| £
1118 1 11] & 11 111 8 11 1] £ B ETA
12| A [l EEEED 12] 5k Hh X Bt 12 12] A 12 12| B B ETA
13| & 1 13| K 13 13| & 13 13| A
14 | K 14| £ 14 14 | K 14 14| &
15| K [ 1] 15| £ 15 15] K 15 15 | /K
16| & BB 8% 16| B 16 16 | & 16 16 | K
17] £ 1 171 A 17 17| £ 17 17| £
18| B 1 18| 18 18] B 18 18] £
19| A 1 19| K RS 19 19| A 19 191 H
20 [ X 1 20 & 20 20| & 20 20 [ #
21| K 1 21| & 21 21 ] Kk 21 21| W
22 | K 1 22| 22 22| % BORESHRE~ 22 22 | 7K
23| & EERES 23| H 23 23| & ZHE—Y DB 23 23| 4
24| + 241 A 24 241 £ 24 24| &
25| B 25| K 25 25| B 25 25| £
26 | B 26 | K 26 26| B 26 26| B
27| & HES 27 27| & 27 2711 B
28 | K 28| & 28 28 | /K 28 28 | ok
20 | &) RO BETAR ] 29| £ 29 oh s 22 i) 29 | K 29 29 | K HiRAER
B 30| B 30 mrseE] [0 & 30 30 7K eSS
31| B 31| £ 31

lllll iHiE =& =& HiE =& =& Hig =i
THAEH 15 19 FHAREH 10 12 THAEH 23 15 FHAEH 11 17 FHAREH 17 19 FHAKEH 14 15
AHAEH 8 8 AKEAKREH 14 14 AHAEH 9 9 AKEAREH 10 10 AKBH®=EH 10 10 KEAZH 10 10
S B E BB 4 20 2.0 S B 3 BB 5 £ 2.0 2.0 S B E BB 1 20 20 B R BB 1 25 2.0 e S BB 49 20 2.0 o S BB 4 20 2.0
KB EBEER Y #DIV/0! #DIV/0! KEEBEREN:  #DIV/0! #DIV/0! REEBEERITES:  #DIV/0! #DIV/0! KBRS R 1 0.0 #DIV/0! REEBEERIES:  #DIV/0! #DIV/0! IREEBEERES:  #DIV/0! #DIV/0!

£ ot B g £ o B gk = oy £ ot

10A 5 £ BREE 118 EHE EiE BREE 128 ETE =& BREE 1H EE EiE BREE 2A EtE S BREE 3A FE EiE B EREE
=N B BB *rEB B B B i | AR gl B B[ FEHER
[HES 118 1]k 1] £ BAr B 1K [HIPS EHE
2 | £ 2 |« 2 | K 2 | B Eilad=] 2 | K 2 | K
3 [ B 3 [ xkoH| |32 3 [ e S 3 [ A 178
4| H 4| K 4 | 4 1k 4 | & 4| &
5 1k BREAE 51 % 5| H 5 |k 5| & QFENTRE 5 | e
6 | K BREAE 6 | + B AXS] 6 | A o i 5 BR 6 | K 6| H 6 | H
AES A= Bzaixs| [T 1% 712 71 A 718 199
8 | & B 8 | A 8 | 7k 8 | £ 8 |k 8 |k A EH
9 | AEEXE RFAKS 9 | 9 | K 91| H 9 |k 9 | K KBAKREH
10| 8 RELEREAKE 10| 7k 10| & 10| f2 10| X 10 | K ETEl
11| A [FIES 1] £ 1] & K 11| £
12 [ A 2] 8 AER 2] £ 2] & 122
13 ] K 13| & 13| B 13 K 13| B 13| B
IAES 14| 8 EZRIT 141 K 14| & REAFHETALEN 14| B 14| A =45
15| & 15| B BZHRIT 15| 7k 15| £ KEAFRET RN 15| k& 15 | K
6] £ 16| X =T 16 | A& 6] B erara] |16 K 16 ] K 123
17| B 17| K BFERIT 171 & 171 A 17 K 17 K
18| A 18| K 2F 44K 18 | &) BEFHRES 18] Kk 18| & 18| & 1
19|k 19| & 19| B 19 | Jk 19] £ 19 £ 1 RKEBEE
20 | K EERE 20| £ 20| A 20| K DRENTRH 20| 8 20| 2 1 EEl
BEES 21| 8 21| & 211 & Q% DT AK 21| B 21| 3 1
2|2 22| A 22 | K 2| £ 22 | X 22 |k 1 300
23| = 23| &% BB E 23] K 23] B 23| 23| K 1 BT
24| H 24| K 24 | 5 12/184%4K 241 B 24| K 24| K 1 |EEktrg~ EiE
25| A 25| K 25| £FHRE~12/18) 25| M 25| & 25| & 1
26| X 26| & 26| B 26 | K 26| T 26 | 1 322
27| 7k 27| £ 27| B 27| K 27| H 27| B 1
28| K 28| A 28 | & 28| & 28| B 28| A 1
29| £ Q@ZHTAN 29| A 29 | EAFF R 29| = 29 | X 1
30| = D@L HT AN 30 30| &% Eilsl=] 30| H 30 | JK 1
31 ST ey ¢+ | | R GldE] st e Py ¢+ | | 31 [ & 1

IIIII ] EE] =5 ETIE| 5 15 &1 18] s ETIE| ]
THAEH 12 16 FHxEH 16 16 THAEH 15 15 THREH 13 15 FHAZEH 13 18 LHREH 19 22
[IN=L7 S = 10 10 KEHKREH 10 10 KEAREH 10 11 KBAZEHR 12 12 KHAEH 10 10 KBEAZEH 9 9
TH R R 2.0 2.0 I BRI 2.0 2.0 TH R R R 29 20 T H R T 2.0 2.0 TH B T 20 #DIV/0! T & B R 2.0 #DIV/0!
REEBEERITES:  #DIV/0! #DIV/0! KEEBERTH  #DIV/0! #DIV/0! KB RIS 5.0 #DIV/0! KEEBRTH  #DIV/0! #DIV/0! KEEBEERITES:  #DIV/0! #DIV/0! KEEBBRTSY:  #DIV/0! #DIV/0!




